H & 0l & AHS B Ml A

2N DED
M SEXN HSUSAHEIAMA &E
el Uisus sy 23018 &4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
wsut 23,708,602 25,003,358 A\1,384,756
= 1,016,250
[ 420,000
Jl 268,536
< 3,806,334
Al 18,197,482
SEHC HSUSHEIAMA = 13,277,715 13,399, 162 A121,437
= 1,016,250
s 420,000
Il 268,536
= 626,334
Al 10,946,595
Hsus gy 2818 &4 13,242,908 13,361,534 /118,626
= 1,016,250
s 420,000
Il 268,536
= 626,334
Al 10,911,788
AUBA BXed 2A2as X2 2,000,000 2,019,790 A19,790
= 600,000
Al 1,400,000
307 @120l & 2,000,000 2,019,790 19,790
= 600,000
Al 1,400,000
09 2FSHEXS 2,000,000 2,019,790 219,790
OAILIHA SIed 4283 2,000,000
= 600,000
Al 1,400,000
AMUHA 42N 1,728,657 1,619,450 109,207
307 elzto| & 1,728,657 1,619,450 109,207
2gHEXS 1,728,657 1,619,450 109,207
OAILHHA 1,008 HERsH £4Bds 1,728,657
AMUHA BXETG S WSS ZAES 130,000 70,000 60,000
207 ARl 130,000 70,000 60,000
01 S| 130,000 70,000 60,000
OAILHH A NSEXZAL S 50,000
OAUHA 212 SIAIZAIES 20,000
OAILIHA 2EMA det BHEddE 89 60,000
AMUHEHA XIE A 50,652 333,400 N282,748
307 el2tol & 6.720 8,400 21,680
02 2IZHBYAIAE & 6,720 8,400 1,680
OAlUH A s X] LY LED &8 | X|2ke|
560,000 1294 & 6,720
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A WSt
M SEXN HSUSAHEIAMA &E
CHol: IZDE QR 22)|8 XA (SHol: )
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
308 XXM SOIH 3,432 3,432
18 SIS0t 4 A AS A 3,432 3,432
OAILIBA SRl 212 Bl BT
66,0002 *52CH 3,432
402 2I2FX=01 & 40,500 325,000 A284,500
01 RIENSA S E X (XM THR) 40,500 325,000 A284,500
OUZ® DRTXHE CHEIXE XIE
40,500,000+ 1CH 40,500
#HESHA 2 XNA(EX) 600,000 500,000 100,000
= 300,000
=S 60,000
Al 240,000
307 21201 & 600,000 500,000 100,000
[ 300,000
= 60,000
Al 240,000
02 QIZHEAAEE X 600,000 500,000 100,000
o=z ta =24 600,000
[ 300,000
= 60,000
Al 240,000
HEIEAl 2 XE(EX) 415,540 388,700 26,840
[ 120,000
Al 295,540
307 @I2t01 & 415,540 388,700 26,840
[ 120,000
Al 295,540
QO 2= HEXS 415,540 388,700 26,840
OH=ZEA 2E 415,540
s 120,000
Al 295,540
LdEWSIHE K2 A 5,200 4,400 800
= 2,600
Al 2,600
308 AXIHMSOIA 5,200 4,400 800
= 2,600
Al 2,600
183 S 2SO B & AET AL 5,200 4,400 800
OLEWSIHE XNZAMY 5,200
= 2,600
Al 2,600
2+2H MEXE I=(BX) 2,678,494 2,261,293 417,201
== 345,509
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,332,985
307 gl2tol & 2,678,4% 2,261,293 417,201
=S 345,509
Al 2,332,985
00 2FSHEXS 2,678,494 2,261,293 417,201
O2+gH MEXASHI=2AEH) 2,678,494
< 345,509
Al 2,332,985
HEsnsSs2dd 481 ¢ 22FHI(EX) 37,300 64,000 A26,700
= 11,200
Al 26,100
401 AIEHIX SO 37,300 64,000 A26,700
= 11,200
Al 26,100
01 A28l 37,300 64,000 A26,700
OHAsZdd HEBXHAIE £X 37,300
== 11,200
Al 26,100
Hsussdd &x & 2434| 694,018 1,039, 168 A345,150
201 el 145,518 274,168 128,650
01 At2t2ltl 52,170 197,620 145,450
ORYSE MATY 7,700
OLSYR X AR 28,000
Ol 28 NEES 15,000
O8] ALY 1,470
DEGHH Y|P
70,0003 *7 E*12] 490
S/W e AR
70,0002 x5EH*13] 350
CHA THE SRR
70,0002 0«13 630
02 S5=24g4l 93,348 76,548 16,800
OLSERFN QU= 40,000
O 2SR MIIRs
2,060,000 12& 24,720
Od=ZEAl S|
37,0003 1204 2=+ 123 5,328
OAILHH A - EHAl SZE 24 & &H|
388,330 *607H A 23,300
401 AIZHIZ R0 548,500 765,000 A216,500
01 Al&H| 548,500 765,000 216,500
OAUHA s=s23d Wi & dAEX 420,000
Ot =& HiEel Wi & ==l 3,500
OAILHHA X BEAIS X1 2 =2 7,000
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ONUMHA STF U #6XI BAI, AZE
SR 7,000
OAILIH A s2& J|eHEl] 7,000
OAlUHA s2E HIKHE 14,000
OHAl s2& &X 10,000
OHASZE 2018 4X
1,000,000 400K 2~ 40,000
OBlA SXHUI| LA (SIHE) &R
2,000,000 *20JH 2 40,000
HAZEAAR(BIS)E & 2Y 129,596 146,520 16,924
201 2= 73,596 66,520 7,076
2 S524g4l 73,596 66,520 7,076
OFEHEX(HA), | SAZ - &D|
2(523) 47,0002 +440H* 1228 24,816
OHASHILZAIAL SetREHH 23]
30,0002 ~44CH* 1200 2 15,840
OHASHEE =TEX(HA) |2l
30,0003 »44CH* 120 & 15,840
OHASYHEE oHD|(SLE) |X2el
300, 000& *57CH 17,100
401 AIZHIZL R0 56,000 80,000 24,000
01 Al&H| 56,000 80,000 A\24,000
OHASSEDAIAE OHADI(BIT) &XI 56,000
EIASENE 23701 0HE KIZAISE (HEALY) 27,000 204,236 A177,236
s 13,500
Al 13,500
401 Al HIZL R 0HbI 27,000 204,236 AT77,236
[ 13,500
Al 13,500
01 Al&HI 27,000 204,236 AT77,236
OsZdd 282X &1 27,000
= 13,500
Al 13,500
HEIDIE A& 13,200 13,200
206 M=l 6,000 6,000
01 M=4l 6,000 6,000
OHUIE 2154 HolssE FY 6,000
307 @I2t01 & 7,200 7,200
02 LB AANHEE 7,200 7,200
OSEBHAHOIE Aty XA 7,200
HAEDIE AMIEMNE(EX) 18,333 31,095 A12,762
= 5,500
Al 12,833
402 QIF X201 & 18,333 31,09 A12,762
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< 5,500
Al 12,833
02 QI X2 AL EE(0IETHE) 18,333 31,095 N12,762
OIS DS SHIALY 18,333
= 5,500
Al 12,833
SAIXIE A 439,012 97,568 341,444
207 ARl 22,000 0 22,000
01 184l 22,000 0 22,000
OMIBAF EHAISE N AEi=AL ES 22,000
307 212t01& 163,280 93,220 70,060
02 LB HANHEE 11,600 14,500 22,900
ORg=2d8Xital nsHEHl X 8,000
Ousotd Anelgs X2 3,600
B 2=gHEXS 151,680 78,720 72,960
O=Al S2ME X2 151,680
308 AtAIEHMSOIE 253,732 4,348 249,384
183 S 2SS ZB XA AIE 253,732 4,348 249,384
OHAI2S#E D2 AIAR(TIMS) 28 X2 3,460
OHAl 28 AME=SEY]
66,0002 *x316CH « 12 250,272
WEAL SEEusSsH 2 (2AIIZ AMY) 895,104 563, 166 331,938
Jl 268,536
Al 626,568
307 gl2to| & 895,104 563, 166 331,938
Jl 268,536
Al 626,568
05 eit?(& = 895,104 563,166 331,938
OSEusS=Y 224 X& 895,104
Jl 268,536
Al 626,568
WSAA SEuSeE &Y 368,000 144,000 224,000
= 184,000
== 92,000
Al 92,000
405 KHakE SH 368,000 144,000 224,000
= 184,000
=S 92,000
Al 92,000
01 TR =SFISHI 368,000 144,000 224,000
OSENS+HH(TMH SHA) =&
46,000,000 +8CH 368,000
= 184,000
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< 92,000
Al 92,000
L2 WSAD ol X 21,000 40,000 219,000
= 3,180
< 3,150
Al 14,700
301 EtE NS 21,000 40,000 19,000
= 3,150
== 3,180
Al 14,700
14 JIEt2 8= 21,000 40,000 19,000
OLNg2dAt 28HA Nalgte X2
200,0002*105% 21,000
= 3,150
== 3,180
Al 14,700
28Md RIUIEXS K& 1,550,000 3,531,000 A1,981,000
307 glztol & 1,550,000 3,531,000 A1,981,000
09 2+EAE2LS 1,550,000 3,531,000 21,981,000
OAMgEIE RItEXs XI& 1,560,000
SEXNS SSEAl 28 70,500 70,500 0
= 47,000
Al 23,500
307 @120l & 70,500 70,500 0
=S 47,000
Al 23,500
02 QB HANSEER 70,500 70,500 0
OsEXS s usSsHd SstEAl XA 70,500
[ 47,000
Al 23,500
BANRE JtErrg X 63,333 98,400 A35,067
= 19,000
Al 44,333
307 el2to| & 63,333 98,400 A35,067
= 19,000
Al 44,333
02 QIHEHAIEE X 63,333 98,400 A35,067
OHAIRS It X3 63,333
== 19,000
Al 44,333
BARs JteEsdE N 21,582 21,648 YANGS
= 6,475
Al 16,107
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307 lztol & 21,582 21,648 266
= 6,475
Al 15,107
02 2IZHBYAIHE X 21,582 21,648 VaNG'§
OHAR=s st K& 21,582
= 6.475
Al 16,107
HEd 24LE N2 913,358 100,000 813,358
307 212+01& 913,358 0 913,358
9 2FHEXS 913,358 0 913,358
O0l2dl R4S 2+ A= 913,358
WEAL SEuSH 2E (24| AtY) 180,500 0 180,500
= 180,500
307 21201 & 180,500 0 180,500
= 180,500
05 212t =S 180,500 0 180,500
OSgus+t 24(=4l) 180,500
= 180,500
MatgiAs =g 97,600 0 97,600
= 46,000
[ 23,000
Al 28,600
402 BIZtAH=01A 97,600 0 97,600
= 46,000
s 23,000
Al 28,600
02 RIINEASEZ(0IETHR) 97,600 0 97,600
OM&HA =Y 97,600,000 = 1CH 97,600
= 46,000
= 23,000
Al 28,600
OAHAEDIE THEXE 34,929 0 34,929
307 212+01™ 34,929 34,929
02 LB HAHEE 34,929 34,929
Oge32H0IE MEXA(SAHSHE)
9,860 *BAI 2H*246 2 x1H «80% 16,524
OXelASEH0IE HEXA(SEHSHE)
9,860 *8AI 2H246 2«1 19,405
AUHA 01222018 HEESH 60,000 60,000
207 ARl 60,000 60,000
02 MAHHEHH] 60,000 60,000
OAILHHA K{Z2IAH01E JHE 1A
60,000,000 60,000
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SA: DS
& NGt #llst JA uSEE A=
Rl WEANE 2E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 240,000 100,000 140,000
Otles & BES &)| - SEes3 240,000
401 Al HIX S0 1,466,500 2,005,000 628,500
01 AlZH| 1,458,940 2,084,200 A\625,260
OusHsI| & 28 72l
350,000,000 *99.28% 347,480
OunsSHEXE Ald & FH|
210,000,000 *99.28% 208,488
OXte =4 4X| & FHl
560,000,000 *99.37% 556,472
Ol UK & HIIUHE B =22 24,500
ORole= Jthiiet X 280,000
O=d FEXt &= nFA CCTV WAl 42,000
03 Al 20HHI 7,560 10,800 A3,240
Ousdsl| & 88 RA2dl
350,000, 0002 *0.72% 2,520
OusS=EAE A4 & H
210,000,000 0.72% 1,512
OXH = X & Hbl
560,000, 0002 *0.63% 3,528
OIS+ 2579 FHIAIS 100,000 290,600 A190,600
= 30,000
Al 70,000
401 AlEHIZ S 0HbI 100,000 290,600 190,600
= 30,000
Al 70,000
01 AlZ2H| 98,800 288,600 189,800
Ot 2579 FHIA 98,800
== 30,000
Al 68,800
03 Al 20HHI 1,200 2,000 2800
Ot 2579 FHIAIE 1,200
KEAHAIE 2tel 224,000 320,000 296,000
401 AlZHIZ S 0HbI 224,000 320,000 296,000
01 AlZH| 222,488 317,840 N95,352
ORENEZ FHIML (RN E=)
210,000,000 +99. 28% 208,488
OXNEHEZ AME= RAE2ALE 14,000
03 Al 20HHI 1,512 2,160 A648
OXENTZ FHIAE
210,000,000 *0.72% 1,512
NENEE 60,000 50,000 10,000
307 el2to| & 60,000 50,000 10,000
06 28= 60,000 50,000 10,000




SH: DED
S kMG Eelst M3 WESEE 25
ol WSAld 2g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| o=@ T4 RE 28 il 60,000
NSERSHA(ITS) =AY 659,600 0 659,600
201 LBzl 144,600 0 144,600
01 At2teltl 5,000 0 5,000
ORSYHE 29 - B2BE 20 5,000
02 S3=gHl 139,600 0 139,600
ONSERENH &Il - B4 23
2,800,000& 122 33,600
ONSHEDEMH ALe RN 106,000
207 ARl 110,000 0 110,000
02 &AHHEH] 110,000 0 110,000
OBYFAT FHYSHT LUNAY 75
(012) 110,000
401 Al HIZL S 0HHI 400,000 0 400,000
01 Al&HI 400,000 0 400,000
OBYEAT FAYLHT LYALEY 25
(&) 40,000,000 100 £ 400,000
405 THaHE =4 5,000 0 5,000
01 It =S F = 5,000 0 5,000
ODSIRUH AR2Y 2B7Y 5,000
ECRTE 1,500
SdED Y 1,000
- 2)13F| 2 90
STV 800
- WBHAI| 7Y 800
Oielo] wSord 1,922,500 1,724,000 198,500
= 900,000
Al 1,022,500
HElol 2579 HHAS (HEALY) 1,800,000 1,674,000 126,000
& 900,000
Al 900,000
401 AlEHIZL SO 1,800,000 1,674,000 126,000
& 900,000
Al 900,000
01 AlZHI 1,793,520 1,667,974 125,546
O0fRI012 57 HeAle] 1,798,520
= 900,000
Al 893,520
03 AIESTHYI 6,480 6,026 454
O0gl0I25 7Y JHE ALY 6,480
2579 el 122,500 50,000 72,500
207 ARl 87,500 0 87,500
01 H7ESHI 87,500 0 87,500
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& NGt #llst JA uSEE A=
o ofglol nsSotA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OE=+9 AtEA EY 87,500
401 AIEHIX SO 35,000 50,000 15,000
01 Al&H| 34,622 49,460 14,838
O0lgl0l 2579 AIEE |2+
35,000, 0002 *98.92% 34,622
03 Al 20HHI 378 540 A162
O0el0l 2579 AlEE |RAES
35,000,000 *1.08% 378
LoIE2S7Y A 200,000 200,000 0
= 100,000
Al 100,000
COIES A LAY (HEALY) 200,000 200,000 0
= 100,000
Al 100,000
401 AlZHIZ S OHbI 200,000 200,000 0
s 100,000
Al 100,000
01 AlZ8| 198,600 198,600 0
OLQES 7 WA 198,600
[ 100,000
Al 98,600
03 Al 2CHYI 1,400 1,400 0
OLe257% JHE ALY 1,400
SHE X233 &4 5,462,003 5,112,69% 349,308
S 2,150,000
Al 3,312,003
SYFIUHE ZLAS(HEAY) 4,300,000 4,000,000 300,000
== 2,150,000
Al 2,150,000
401 AIEHIZ SR 0HYI 4,300,000 4,000,000 300,000
< 2,150,000
Al 2,150,000
01 Al&H| 4,282,360 3,984,200 298,160
O X+ FXEHR A ALY 2,192,080
= 1,100,000
Al 1,092,080
O0tg AKX 7 =X ZgAY 1,295,320
=S 650,000
Al 645,320
O2s8X7 S g A 794,960
< 400,000
Al 394,960
03 Al 2 CHYI 17,640 15,800 1,840




0H
i’
oF
uJ

o
) 518|8 3|8 °© glg & [g[g]r
20 2 P [ S| ® - S| S |S NIN|IN|B|8 g8
S s < ol ailad ||| o|o =]
KO < AM_.. 88| ©|lo|w© o
£ 2|14 < il
D
Q| Q|
S|= = 2|8 S glg gz [°|°|°
(SN To N H¥o) > | ol > o 9 2|2 |RIR
Wi o o | = slg © QIS5 9|9
g 1 == BB B o>
RIS
Q8 2l8ld18 8
S B S| (S| gg|lgegsag g8l8I888ITIBIR 8
GO Il IRl I O © B O W re} [ IS N ~ R =
745%55 5%%8663, &szwwmmmmoﬂmm&oﬂmmwwwww mw&w
=3
iy
&Y ol ol & ol ol B —
or m*a m&mw_uﬂ w&mﬁuw _n_.ﬁ
o =) 51 i *oE) & xogp X o
5 o) W 5 A W 0 2 @ &
Y - °w < S@w8 2w s ;
X E ok u 5 w S 2 o H S el
ol Y o m_omm_ = : )%%,W %%W o
i ] ) = Fiv -~ O e o TN
B N 7 gefegefs :
— X - —_ o S
Pzl || 27| | zey ¢ v 2 28 | =
N R K RS 3T [ o ar o+ 3
~ R K0 [ il ol ol Ho 80 ol o) o
= |F g K <+ oz =0 %0 @ . D D OH o Al
= R H % KOORO KO KO =z = oo 8o K o
= |z &gl [©k REE K5l 3 & i i o %z =
ol P R ke KE KE K (2] R & L m w@ alo|H
o U N O R . R < (O RO N L1 I 8 I T s
> _.Tmno_%m 0 M [D|(2 Mo/ = T f |0 K = KO ﬂx_. oy R EowR 80 = M 0
R = T B I il 80 | R T RN R I = I L O O - o
ﬁm m%%&%ﬂ% ﬁ%%mmm_%g)wmXTdTIT%IEWﬁ_ﬁgmﬁaéﬂm@ o nE (&g C
K By S KO _ |3 [0 - M= z N EE hJ = TR =t pd _ | = 0o
: _ooooz_xo_J%%%M%g&gomuwewamo@%ém_agojoﬂ%mummr,@m_gumm 0| S
O O Ok @) M WMRI<|< M0 < MA0| = U = S Y I
3 Ha|S G A o S g L Lo =S 1 e g
oF 30 [— S =} mm s x_.MAOwO @) ___._o_m_m_o._Jm =< &
A0 8 |2 a2l elsls © |sls ©
[0 oF | |~ QI°
0|5 |3
7| A0
Ao

_12_



0H
i’
oF
uJ

< o
A0 B 3 |8 g|8 NBEEEEE
Ko T of & | o clels S EEIE
©
= SR 2%
D
] glo
S Q 3 S8
o 1 S P I I NG SR o
LiEd 8|8 B3|3|=|™ ~ = o B
RIS & & ~
S 8 = N
S o ¥ 588 8 38|I3|8 &
e8 § ¥$8888H8EEEEGEEIGE 8§ EHEES
) B e D et et Dl el NOIR 2 818|182 g8/8|8 8
mvrﬁ RN slelglgl=~ ~ A.,oo8,8,2,2,2
<) NIN N|T[Y Y
=
E 80
D._ﬁ OF: OF. ©
£ 88 a . _ )
Bl uy 8%z’ = o S «
c |y TooToW _ > D
& |+ T F O D Iy W g X
= S oM R =
O [ B R 0 R0 5 - = 2 O
7 o R .
= ﬁ_ %5 K 2 Do ox% 60 R 0 = ajg
L mm ST x_w =] = o R E| R
= o) 30 W 2R o ok = o = H
=l2r® %% <kl @ i I T o
— _“__u_Wolﬁ | ol [YE 1o © <N N = -
o B M o=| | 10 - 5 _
oF |0 o H0 Ho = e = WS % R 3 - D
ol U o W = W < | H | 5 [0 Pl 31 =4 Rl K
o | oS mmoloa Tl 2 2 |z e ~ |=|s|s B o o- OF
S @%M%E@%E%M:meﬁlm W= 2] z O _a|z|a ¥
i FERE RS %zomm%W%HWM@%Q%@#E%Eﬁ%ﬂ%% RO e
X %OQ11OMODﬁ ZESHEEERE R0 R < |5|3 Wz X
I+ z|= 9= C5l8 “Y0glz ¢ = B el e G RS WS |5 \W e o I
B lr ||| o gz Olg|s ©
o0 | M|~ & S
Q=

=
1o

_13_



